
EE228                            SPRING 2007 
PROBLEM SET #7 

 
Chapter 16, Solution 24. 
 
When the switch is position 1, v(0)=12, and iL(0) = 0.  When the switch is in position 2, 
we have the circuit as shown below. 
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Chapter 16, Solution 25.  
 
For 0t > , the circuit in the s-domain is shown below. 

 
Applying KVL, 
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Equating coefficients : 
0s : A144288 =−        (1) 
1s : E9C16B48A960 +++=      (2) 
2s : E6D9B16A250 +++=      (3) 
3s : ED6CB3A60 ++++=      (4) 
4s : DBA0 ++=        (5) 

 
Solving equations (1), (2), (3), (4) and (5) gives 

2A −= ,     202.2B = ,     84.3C = ,     202.0-D = ,     766.2E =  
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=)t(v   {2.202e-3t + 3.84te-3t – 0.202cos(4t) + 0.6915sin(4t)}u(t) V 

 


